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1. The volume of the solid generated by rotating the region
bounded by the curves x = y?, x = 6y — 2y? about z-axis
can be represented by

(a) 67 [ v (2—y)dy
(b) 6 [ (2~ x)d
(© 67 [ v*(2-y)dy
(@) 6 [ o*(2 - x)ds

(€) 67 [ y(2—y*)dy

2. The volume of the solid generated by rotating the region
bounded by the curves y = —2? — 2, y = 0 about = = 1,
equals to
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(e) 67
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3. The average value of f(x) = sin™' 2 on the interval [0, 1],
equals

T — 2
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4. The sum of all numbers ¢ such that f(c) equals the average
value of the function f(z) = 3x* — x + 4 over the interval
[—1,1]is
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5. /OW/G sin (4x) cos (2z) dx =

Y

o

N~—
]
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o
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6. /a: sec(x) tan(x) dx =

(a) x sec x —In|sec x + tan z| + C

(b) — +secx+C

(c) Esecx+0

(d) 2°tan z —In|sec = + tan x| + C

(e) 2% sec x —In|sec x|+ C
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7. /62“’ sin (x) dx =

2z
(a) 65(2 sin x — cos ) + C

2z
(b) 65(3 sin x 4 cos x) + C

()

(2 cos x —sin z) + C

™
[\
co|

6236

(d) — (3 sin & + cos x) + C

6256

(e) — (5hsinx—cosz)+C

1 —tan 6
8. ——df =
1+ tan 0

(a) In|cos @ +sin 0|+ C
(b) In|l+tan 0| +C
(¢) tan @ —sec 0+ C
(d) sec® § —tan 0 +C

(e) In|sec® # — tan® g| + C
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©

10.

Lo

(a)
(b)
(c)
(d)
(e)

V1 —cos zdx =

2v/2 — 2
2V2+1
V2 -3
2 —2v2
32

The partial fractions decompostion fo the the rational func-

tion

1
2?2(x — 1) (2?2 + 22+ 2) (2?2 + = — 2)

A+B+C+ D +E+F$—|—H
r 22 -1 (z—1)2 z+2 z22422+2

A+ B N Cx+ D n Ex + F
r z—1 2242x+4+2 (2®+2—2)
é-l-ﬁ C Dx + E Fx+ G

T x2+x—1+x2—|—2x—|—2+(x2—|—2x—|—2)2

A+ B N C N Dz + FE
r z—1 x+2 2242x+2

A B C D n E n F
r 22 -1 (z—12 z+42 (x+42)?
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1L [V9—aPdr =

12.

/\Ai_ldx:

(a) V422 —1—sec ' (22) +C
(b) V4x2 —1 —sec™* (aj) +C

2
422 — 1
(c) xQ—sin_1 (2z)+C
422 — 1
(d) :;x—sin_l (22) + C

(e) 2xv4x2—1—tan ! (;) +C
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14.

In

In

1

| 7wt

2vx — 39r +6Yr —6In|vr—1|+C

3 2P

§—§+x+ln |$—1‘+C

In|z — 1] — tan ¥z + C

1
V- T+ ——+C

1
Vo —3Vr—Inljlz -1+ ——+C

r—1
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: o T ©/2 [ sin(2x)
15. B the substitution ¢ = tan | - | , th ————— | dz =
y using the substitution an<2>, en/o (2—|—cos a:) T

1 8t(1—t?)
@ L Greyaser®

1 (1-1t%)
O ) aroere

141 —t?)
© J T

1+ 2t + t2)?2

1/2 2t(1 — t?)
(d) A (1+ﬁ)ﬁ

12 (1 —1¢2
() | (g+ﬂ;dt
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17.

18.

2 1
The improper integral /0 = dt

(a) diverges

(b) converges to In 2
(¢) converges to0

2

(d) converges toe

(e) convergest to 1l

_67\/5
dx
20/x(1 4 e v7)

. . o0
The improper integral /1

(a) ton ! )
a converges o 1n
Vers 1+4+e !

(b) converges to In(1 —e ')
(c) converges tol
(d) converges to0

(e) diverges
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19.

20.

3
m
/0 cos vV dr =

(a) —67

(b) 37°

(d) —27°

(¢

cos® 0
/ sin?/3 @ 40 =

(a) 3(sin 0)Y3 — i(sin 03 4 C
(b) 3(cos 0)1/3 — ?;(cos 03 4 C
() 3(sin 0)"/3 — ‘;’(sin 0 1 C
(d) 3(cos 0)Y/3 — g(cos 0)° + C

1
(e) g(sin 0)°>/3 + E(COS N+ C
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